QUIZ 1 Opening Lead from a Long Suit

ANSWERS

In some cases multiple answers are correct; Recommended option highlighted in Blue or
Green.

A. In standard methods, which is the correct lead against a NT Contract:

1 | 8643 11 | J864 21 | QJ85 31 | KI943 | 41 | AQ8J/5
2 8I432 12 | 1987 22 | QJT3 32 | KITA3 |42 | Al65

3 | 9876 13 | JT52 23 | QJ987 |33 | KQ653 | 43 | AQ742
4 9'765 14 | JTA 24 | QJ7852 | 34 | KQT3 | 44 | AK53

5 | 6532 15 | JT93 25 | Q8784 | 35 | KQJ43 | 45 | AK9g7
6 | 9752 16 | Q753 | 26 | K852 36 | AB74 | 46 | AKI{Z3
7 | 9854 17 | QT84 | 27 | K8 37 | AT75 | 47 | AKQ5

8 |975 18 | QJT4 | 28 | KT832 |38 | A985 | 48 | A98742
9 |96 19 | QJ72 |29 | KT532 |39 | Al96 |49 | AJ987
10 | 965432 | 20 | Q5 30 | KJ752 |40 | A 50 | AK752

B. Assuming you are defending a suit contract what would you lead?

1 [8643 [11]J864 |21 |85 [31]kio943 |41 ]Aas7s
2 [sf432 |12])987 |22 @73 [32|KI743 |42 [Ales
3 9876 |13 [ht52 |23 [[i987 |33 |Kaes3 | 43 [ MQ742
4 |o9f765 |14 |it4 |24 |W7652 |34 |KQT32 | 44 | AKS3
5 | 6532 |15 U193 | 25| Q8764 |35 | KQJ43 | 45 | AK987
6 | 9752 |16 |Q753 |26 | K852 |36 |A874 |46 | AKI73
7 |loss |17 ] Qrsd |27 [Ks 37 | AT75 | 47 | AKQS
8 | 975 18 | QT4 |28 |KT832 |38 |MA98s |48 |A98742
9 |96 19 | @72 |29 |KT532 [39 |Mi96 |49 | A19g7
10 | 965432 |20 @9 |30 | ki752 |40 Al 50 | AK752
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